Static Electricity Review Worksheet (Answer Key)

1.  Fill in the blanks:

a) There are two types of charges: positive and negative.

b) Inside the atom there are three types of particles: protons, neutrons, and electrons.

c) A proton is positive and a neutron is neutral and both are found in the nucleus of an atom.

d) When an atom has the same number of positive charges and negative charges it is said to be neutral.

e) Static electricity is the buildup of excess charge confined to one area.

f) Electrons are able to move easily through objects that are conductors.  These objects do not hold static charge.

g) Electrons are not able to move easily through objects that are insulators.  These objects are able to hold static charge.

h) Static charge is generated by friction or by rubbing objects together.  This happens because one object loses electrons to the other object.

i) Static charge is detected by an electroscope when the leaves are repelling away from each other.

j) A neutral electroscope will have the leaves straight up and down.

k) A positive charge is generated on glass when it is rubbed with silk.

l) A negative charge is generated on vinyl when it is rubbed with wool.

m) A positive charge is generated on acetate when it is rubbed with cotton.

n) A negative charge is generated on amber (or vinyl) when it is rubbed with fur.

o) Objects with similar repel one another.

p) Objects with opposite charges attract one another.

q) Charged objects are attracted to neutral objects.

r) To make an object negative, electrons must be added.  To make an object positive, electrons must be taken away.

s) The protons never move.

t) There are three ways to give an object a charge.  Friction is used when one object loses electrons to another when they are rubbed together.  When we charge an object by induction, we put a charged object next to a neutral object.  The neutral object gets a charge because the electrons move, causing a part of the object to have a temporary charge.  The last way to charge an object is by conduction and happens because the two objects touch each other causing transfer of electrons from one object to the other.

u) When a pathway to the ground is provided for the electrons to flow out of a charged object so that it can become neutral is called grounding. 

